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This is not according to Rabi Shimon — JRW 9370 KYT K7

OVERVIEW

19117 92 °01 "M stated that our 7awn, which rules 270 NAW2A NI 191 ¥OIXAD WO 9O
nRun, is not according to w"1 who rules' that these 2 11v°w were not mentioned (as
a general rule for all) except regarding those who are ¥°1¥n these amounts. M501N
discusses the view of w".

- AT MYIUI PISNY DINVY DN 22 29IV 9913 AWaN Y3 1INT XD 209093 U9
>'"'w9 explained that when X131 72 "0 ' stated that our 771wn is not in accordance
with w"3 he meant this which the 71w teaches, ‘anything which is fit’, etc. (to
be ¥°1¥n), meaning the a majority of people are inclined to put aside this
amount, then -

- 319 YN DTNV PRY PYY DTN IDON RN YY DX Y3 290
Every person is liable for carrying out this amount, even a wealthy person, for

whom this amount is not significant, he too is also 2°n. This concludes the citation from

w95, NDOIN continues -
= 99987 P99V DTN 232 DNDA NIN PIYNY 29 29010 NIT 199279 ¥NRUn

It seems from s""w" words that @' would not hold liable for carrying out this

amount only for ‘regular’ people who are accustomed to be ¥31%% such a (small)

amount -
- NN IPIINN NY 1959N) 1Y 2IWN NV INMNY

Since this amount is significant for them therefore they will be 21 for carrying

it even though they were not actually ¥31%% it; [however a rich person for whom this

amount is insignificant will not be 271, even though ‘regular’ people are ¥°1¥» this amount] -
=199 DT IMIN PYPIINNY NIN NIYNIY DINYIY 19N XD W9 “mIph)

However later >"v1 explained the view of w"9 that all the 2> w2 which were

said in that 72w are only for those who were p13% these items previously -
= AN YNNI RPIT YNRYUN INININI YINND I

And then the y°13» went back and carried it out; indicating that one is only
217 when he was ¥°18%, but not when other (‘regular’) people were ¥>1%7.

'On 2, 77 the 71wn mentions various 2Ny (mostly less than a n°y°27) to be 2°°1 for carrying out liquids on naw.
However "1 disagrees and maintains, 17°¥°181% X9R 1997 299w 92 10R1 R 0°Y73 1990.
2xaa"7a.
3 However "1 disagrees with this. M50I1n goes on to explain what is the view of w" (according to this >"w1p).
4 X7 7"7 >"w"2 2,%. The mwn there mentions different > Mw*w for carrying out various liquids.
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In summation; from our >"wA here it seems that "9 maintains that ‘regular’ people are 211 for
carrying a Myw which ‘regular’ people are ¥°1¥n, even if the carrier was not ¥°1¥» this item.
However from °"wA later it seems that ¥"7 maintains that in order to be 211 for the minimal
YW mentioned in that 71wn, the X°X 1 had to have been ¥°1¥1 this item previously.

nooIn clarifies >"wo:
= YIS PIPY TO98NY NNT VIV AWNY WIT PNX 13929 9IINY

And the >''1 says that we can resolve the contradiction in 3"w=s, for this which

"7 later requires setting it aside in order to be 27 -
- 5193819 1997 PRY PYY DINY 1)

That is for a wealthy person that it is not his custom to be ¥%X» such a small
amount, which regular people are ¥ 1x¥n, therefore in order for the 7°w¥ to be 21, it is necessary

that he was ¥°1¥n previously this small amount -
- SN W9W 115 WH9T TN PYNY 2397 NN WIS 01PN Y

But nonetheless it is necessary to explain the ruling of @' (that 9> 1K1 X?

TPYOIXNT ROR 1990 PYewn) as v'"wn explained it here, meaning that it is not necessary
for the regular person to be ¥°1x¥n, but rather he is 211 if generally regular people are ¥°1¥7 it -
= 0NN YWDV 1D NIYNL YNONY 1I8Y 927 ININD 1P¥2I803 999910 INT

For if v"7 meant those who are actually y>1x%» for the specific purpose which

the mw» enumerates, as °''w9 explained there (that the [rich] person was y1¥n this

item previously) -
= 9195) NOYYW 2752 NINY Y2 913917 81 MN 11NDI15 )5 BN

In that case the mwn could have given by all of them a Myw of Nww %5

meaning like the amount needed to dissolve an eye ointment -
= PYNY 2395 ININNY EXINY D93 NNIDIDT (3,8 mpy) Y2I8NN P99 1IN

5 >"w1 may have chosen to say there that 17°v°1%1% means the one who is actually ¥21¥n, since "1 there argues with
the P"n and maintains that the 29w is a n°v>27, and all those lesser 2> My°w which the P"n mentioned is 17°v°13871%. The
2w of a N°y°17 is seemingly/obviously (even) for an 7°wy. Once w" is discussing an 7wy, he adds that for an 1wy
to be 271 for those lesser o*y*w (which the p"n listed) it is only if the "Wy was ¥°1¥»n such a Mww.
¢ When "1 states 17°1¥1% he does not mean those that are actually ¥°1¥» (the owy), for otherwise they are b,
but rather w"9 means that whatever ‘regular’ people are ¥°1%7, then other ‘regular’ people are also 2.
7 The mwn on 2,5 (where w" makes his statement and >"w1 explains it) states different o>mw*w for carrying out
various liquids. Regarding water the My is M?°pi7 NR 072 7Y (a medicinal use). If we are discussing that the ®¥m
was ¥1x¥n for this specific purpose, then in all the other cases (like wine, milk, honey, oil) the 1w should also be
(M2’ W) W', since he was ¥°1¥n it IRVI? (see RHP-T1T ).
8 The mwn there states if someone is ¥°1¥7 an item (whether 719791 72072 ¥719), he is 20 for xiw 932 axxn. If w"A,
when he said 11v>180n% XX 997 Pvwn 93 10R1 X9, meant the ¥18n, why is there Y977 P wi 93; there is only one
Mww for a ¥°1¥m and that is a w'">. Therefore we must rather say that v"2 meant that for those people who would also
be ¥°1¥1 such an amount, which the m1wn on 2, specifies (even though they were not ¥°1%¥»); nevertheless they are
21 (but not the 0wy, since they would not be ¥°1¥» such a small amount). It is understood that since they were not
¥1¥1 they cannot be 2 for a w"2 (and also not for the amount specified in the 71w, but rather for a n°y"27)!
9 npoIN is assuring us that the 73wn (which is 2°1n the 2131 for a ") is in accordance with w".
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As the mwn taught in yo13%27 P99 that for medicinal purposes a w''> is sufficient,

and that 71wn is in accordance with @''= -
= PYNY 2395 XDT NN X2 0NN 9INP NI

Since the X923 there did not say, ‘this 71wn is not in accordance with @''9’ -
= 9TYON 12 1PNy 2295 RIT IONN (vxs 97 YINPT 9990 99

Just as the X3 there did say, ‘this 71wn is not in accordance with R'"2w- —

Mmoo supports his contention that according to w"7 people are 2’11 even if they were not ¥°1x7:
= 192380Y 1DV DTN 22 DNU PYNY 2997 PIPTY VI N0 ONNMI

And from that 71w»n there we can also infer that according to w'9, regular
people who are accustomed to be ¥31%% the amounts specified in the various nrawn -
- I8N NI I1DPON 229NN
Are liable even if they were not ¥°12%, and the proof is -
- NYIND KA $IUN INPIWI RIN 1YY 192950 PR DTN 931 9919 $919 39389910 SINP1)
Since the 1w states, ‘one who is 2137 to plant, etc. (is liable for a ¥"), but all
other people are not liable only for the m'w>2’; indicating that 7R %3 are 2n
without v -
- 125159995975 NONN 1) PYNY 299
And that 71wn is in accordance with '3 as I explained —

In summation; according to the 1327 anything which is ¥21%¥7% 1377, all people are 2»n for that
amount, even those people for whom this mount is insignificant. According to "9, only those
people for whom this amount is significant are 2°°11 but not for 2>7°wy. They all agree that if one
was ¥°1¥n, he is w22 2711 regardless.

mooIN rejects an alternate interpretation of w'"A:
= 1923802 1PN L)ynw 5295 2905 N ¥INNT 1997 PRY PVUYaAT U PN

And one cannot explain that by a wealthy person whose manner is not to be
yoxn this amount, @''9 would not hold him liable even if he was ¥513%; we cannot

19 The mwn (on 2,%) rules that only the ¥13¥» is 21 for a w"2, but if another person took out this very same item
(which his friend was ¥°1¥7), he is not w"32 2*n, only 1My"w2.
' x"2w1 maintains in the above mentioned case (footnote # 10) that even the X% is 271, not like the mwn ruled.
12 See footnote # 9.
13 The advantage of the "wno% PX' is that w" stated in that 2,)v 73wn that the Ppwn MW is N°¥°272 even for an WY
(see footnote # 5). w"1 then continues to say 19977 P Wwn 93 19K XY (the lesser ones) were not said for an 1wy at
all, but rather 17°¥°1¥1% X9X; only for these people who are (usually) ¥°1¥1 the lesser amounts (they are 211 for these
lesser 2>y*w even though they were not ¥°1¥n). However the way we are learning now that an 7wy who is ¥°1¥n is
271 for a lesser amount (even a w"d), so why does @' state 17R1 R? after he states the 1w of an "Wy, since those
2w apply to an 1wy as well if he is ¥21xn. ¥"¥31. [See *» 7w naw that according to the w9? PR even by regular
people "1 maintains that they are 2 (for the lesser 2*1y°w), only if they are ¥°1¥n.]
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say this -
= NINYW DO ¥81m3 DAN NIYINA DIININ D937 1193 1499 NININNA 9IN NNY

For the Xn>"21 states in 19 X317 279, ‘when are these words said, for one who

carries out, but for a ¥"1xn the YW is a w"'3; this is the view of the 1127 -
= 9995 98193 D91IN 0927 N9 IIIN PYNIY Y29

w''9 says when are these words said (that a lesser Mv°w is sufficient), by a yo1xn,

etc., but a X1 requires a N°y°17° -
- 9919 19 9IRY TRYNA 1519297 $93810 YWD

And the X713 explained the term yo13» of the 3239, is referring to an apprentice,

whom his master told him, etc. ‘clear out this place for me to make a meal’; we say -
- N9 NDOIN PN 139 TIINN N 16995 2)Wn 1INV 927

Items which are not important for everyone, if his master placed them aside

he is liable, but if his master was not ¥°1¥» them, he 1s not liable -
= WY 1391 IWNINNY ININA NNDI NIYNT 17]1)”2\’) 299 Y281 NNT AR 22DT NI

And presumably the psx» of @'9 is in a similar manner, that it depends on
the one who was ¥°13% this item, namely the wealthy person.

n1voIN asks:
= Iy 290 N9 1°5H23H1) RO YMINPT NNPYV INNINT DH9AN 12 )HvniIv 9392499 nup

The X'"2w9 has a difficulty; for the same reason that the X723 here says that

our mwn» is not like @', and the reason is -
= 190Y 1920 DN 232 DOV YNYN 29NT 2INP NIND PHINNT DIVUN

Because our mwn states generally (without qualification) that something which

is 197 whannh W, one is 291, indicating that all people are 27 -
- 1897 W 10Y YN PRY IMN 199N

Even those wealthy people for whom this amount is not 2ywn for them -
- PYNY 2399 N9 NINT 19993800 HI97 K¥DNA 912919 159 1IN 5123 RIAYL SNAN

14 x,ny. The ’n>2 discusses various 2> Myw for one who is 07 XX (and other liquids). Many of the 2™ "»w were

less than a n°y°27, so the 1127 say that for a ¥°1¥n we do not even require the lesser My°w, but a w"> is sufficient.

15 The X7n3 there was troubled by the statement of the 1327 that a ¥°1%n is w"22 2’1, seemingly indicating that he is

21 for the 7v1¥7 alone, even though he was not X!

16 It is less than the Mw*w which people use, the XX is not 211 unless his master was ¥°1¥» it. This is the meaning

that he (the apprentice) is 211 for the 7v1x7 (of the master), even though the apprentice was not ¥21¥n.

179" and the 1127 argue what is the rule regarding the Y131 whether it is the lesser MW w (") or a w"3 (the 1127).

The &3 established that the ¥°1¥n by the 1127 is the master who is ¥21¥» something which is not 21wn for anyone

else, nevertheless since he is ¥°1¥n, (even) the apprentice is 2°°17; the same applies to W™ that his ¥°1x1 (the wy) is

also ¥"1¥n something which is not 21wn (at least to him), and w"1 rules that he is 21 for the (lesser) My*w; not like

the w197 X stated that if it is not 23wn to him, he is never 2n even if he is y°13n.

18 However, v"1 maintains that the 2wy are not 2n for this small My*w (unless they were v21%n).

19 The mwn on 2,% states, 1YW KPR 19 27 PR OTR 921 ,XIAW 32 211 121 vro voaxmn. It says in that mawn explicitly
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For this very same reason the X723 should have also said regarding that 71w in
yxni o0 that it is not in accordance with w''= —

nvoIN offer a solution:
591 YWY 1YY 71N 29WH18Y VPIT NINT Y U NNIY)

And perhaps one can say that here in our 71wn, where the Xin mentioned

details, he should have been more explicit and differentiate between an 2wy and
regular people if he agrees with w'".

SUMMARY

Y"1 maintains that anything which is ¥°1¥57% 1277, only those people for whom this
amount is significant are 211 but not for o>wy. All agree that if one was ¥°1x¥», he
1s w"22 2n regardless.

THINKING IT OVER
Is there any connection between the X"awa7 n»wp and the rejection of the PR
wanH??!

that all people (including a>wy) are 1MY°w> 21 even though that for the oWy it is not a 2wn My*w. This is in
contradiction to w" (see footnote # 18).
20 When discussing the need for a M¥°w our 71wn mentions details; 131 ¥R PYOIXMI Y2IX? W I 1R MR 593 T,
and the negative 121 31D PYIRD PRI ¥2IXA7 WD WKW 79, therefore if the Xin agrees with w"9, he should have also
made the distinction between an 7wy and regular people. However in the mwn in ¥°1¥n7 there is only a terse
statement regarding 01w, namely, 13w ROR 1YY 20 1R 078 733, therefore the Xin did not choose to elaborate
that 1¥°w of an 1wy is different from 1My of ‘regular’ people.
21 See "n Hw naw.
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